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33Thetwg r.r;entIOl'\Ed cases are similar in the aspect of

A. procedure B. outcome C. character D. influence
. P

s implied that the prosecution of the seven scientists

34, Iti

il o -
oss of lives in L’ Aquila

A. lead to more I
esson about communication.

B. teach a 1
stop the geographic research in Italy.

e.

D. hinder the the development of science.

s the author’ s attitude toward this topic?
D. Unclear

35. What’
B. Objective

A. Critical

C. Biased

Passage 2
Questions 36-40 are based on the following passage.
1 networking site that began in 2004 as
‘ y ts to keep in touch has expanded to
allow everyone to create their own Facebook page. Since then
Facebook has carved a niche for itself in the tech world as
a company that is willing to break through the traditional

barriers of business.

In May 2007, the company opened its platform, allowing
i programs to the Facebook

rs to choose from a
to their personal

is truly open, the
ition where

software developers t
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»rs who want
SIs i ~tware developers
/ million pile of cash waiting for software d

, company calls it
to share their programs with Facebook. the compa
the £b Fund. g
3 ood idea
The grants range from $25, 000 to $250, 000 and a & N
' asn
could fatten a developer’ s bank account. The company

i ions each
announced any restrictions on the number of application

developer can contribute, so potentially one developer could
make a lot of money with a few applications. And while $250, 000
isn’ t anything to sneeze at, the fb Fund grants are actually
Just the tip of the iceberg.

Developers receiving grants from Facebook will not only
get the initial cash,

they will also maintain ownership of
their programs.

Facebook just wants first crack at providing
the money needed to take the software and turn it into a viable
| start-up business.

like Willy |
ped candy bars and waiting |
for the arrival of someone :

not secretly planning
s front door. but with
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those who have been |

around to
(1§3Z) ,or love |

yenture capital
_ an example of infracaninophilia

spr'('i\ds
The stipulation also keeps Facebook out of

overl ooked

for the underdog-

any sticky potent ial

software backed by
ers with good ideas and drive, Facebook’ s fb Fund |

legal battles over who actually owns the

Facebook’ s capital. For unknown |

develop
could prove to be a cash cow.

offer
36. Facebook distinguished itself when

it broke through the traditional barriers.

A

it allowed people to create their own page.

it provided a platform for communication.

developers began to devise new programs.
37. The two examples of f8 & fb Fund listed in paragraph 2 and3

respectively suggests that
A. Mark Zuckerberg is quite ambitious and aggressive.

B. Facebook is talent-oriented and challenging.
C. Facebook has more funds than its counterparts.
D. Facebook aims to hold its large share of market.

38. According to the passage, a basement software developer

might 5
love to work in a basement to avoid noise

A.
B. be in the chocolate factory to achieve success.

C. realize his dream without any financial support.

D. be in an embarrassing economic situation.
39. Searching between venture capital and good ideas was a(n)

practice.
G eld D. fresh

A. outdated B. wise
n’ t be involved in the legal battle of

40. Facebook wo

ownership because X

woMHEBA
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QU

such an issue
little importance to such
protected

| A. the company attaches o
‘ : .rs should be
| B. the right of those software developers sho

‘ , se programmers.
| C. the company shows its sympathy to those pros

i i ¢ id this problem.
“l the company has set up a st ipulation to avoid I

Section 2 Answering Questions (20 points, 2 points for ‘

each)

Directions: read the fol lowing passages and then answer

stions following each passage.

in complete sentences the que.
Use only information the passage you have just read and write

Your answer in the corresponding space in your answer sheet.

Questions 41 to 45 are based on the following passage.

Passage 3 \
Motorways are no doubt the safest roads in the country. \\

Mile for mile, vehicle for vehicle you are much less likely to

be killed or seriously injured than on an ordinary road. On
other hand, motorways have a far better accident record than
any other part of our national road system because of the speed
and volume of traffic. If you do have a serious accident on
a motorway, fatalities are much more likely to occur than in
a comparable accident elsewhere on the roads. It is reported
that motorway accidents account for some 10% of all injuries
outside urban areas.

Motorways have no sharp bends, no roundabouts or traffic

lights and thus speeds are much greater than on other roads.

Though the 70 m. p. h limit is still in force, it is often treated

with the contempt that most drivers have for the 30 m. p.h limit
pplied in built—up areas in Britain. Added to this is the
a

fact that motorway drivers seem to like travelling in convoys
ac
The

h vehicle
. barely ten meters between eac !
with perhaps

10 W13 W
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{ result ing horrific pileups invol ving maybe hundred vehicles
when one vehicle stops for some reason---mechanical failure
driver error and so on, have become all too familiar through
pictures in newspapers or on television. How many of these

drivers realize that it takes a car about one hundred meters
|

to brake to a stop from 70 m.p.h? Drivers also seem to think

that motorway driving gives them complete immunity from the
|

Caprices('gﬂf) of the weather. However wet the road, whatever

the visibility in mist or fog, the plough at ludicrous (##8 ‘
f9) speeds oblivious (ASEAJ#AI) of police warnings or speed
restrictions until their journey comes to a premature
conclusion.

Perhaps one remedy for this motorway madness would be

better driver education. 28% of the motorcyclists polled for

National Motorway Month wanted motorists be received formal
training in motorway driving before being allowed down a slip |

road. At present, learner drivers are barred from motorways

and are thus as far as this kind of driving is concerned, thrown

in at the deep end. However much more efficient policing is
required of, it is duty of police not only to enforce the law
but also to protect the general public from its own folly.
41, According to the writer, as far as safety is concerned,
the two sides of driving on motorways are that motorways are

42. Why are speeds on motorways greater than those on the other

roads?

43. If one vehicle stops on a motorway, the result is that

44. Ts spite of the terrible weather conditions, the motorway

drivers still do not care about

11 0 EBA
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Part I Vocabulary and Gra.mma.r (30 pomis ,1pomt

for each)

Directions:
Beneath each sentence there are four words or phrases marked

There are thirty sentences in this section.

| 4. B. €. D. Choose one word or phrase that best completes the
sentence. .

1. Few stu@én’,t,s_._}’ m interested in this movie,
A are they  B.aren’ t they C.won’ t they D. will they
| 2. Heavily d,, the truck was travelling at 20 mph in the

2

A. way  B. track C. road D. lane

3. To evolve a simulation program, it is usually most

convenience to __ a flow chart.
A. draw on B. draw back C. draw up D. draw out

4. The friendly tone of the meeting seemed _ to finding a

solution to th
ppreciative D.attributable

instead of eating properly,
nutrients that your body

the country’ s
the same
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populate d, but

ghtly
we probably |

finish it today,
|

had hoped to

finish until tomorrow.

B.as it were

s C as such D.as yeb
1 be from office

9. He was convicted of corruption, and wil

;‘ for 7 years.
D. dismissed

C. disqualified

B. dispelled
a 5-star hotel!the

|
e disgraced
|

| 10. I can’ t imagine how this place _

| service is dreadful.
B. passes for

C. passes over D. passes up
_ fewer government \

A. passes down
11. Mr Williams is a conservative who __

controls on business.

A. sponsors  B.advocates
12. He is attracting most of the criticism, partly because

C.claims D. contributes

of his high political at the moment.
A. gesture B.posture C.signal D.profile
13. I don” t think this floor will _ the weight of a grand

piano.
A. retain  B.maintain C. remain
,a man who expresses himself effectively is

D. sustain

14.
sure to succeed more rapidly than a man whose command of

language is poor.
A. other things being equal
C. were other things equal D. other things to be equal

e note wi h e acti 1ties ha:
W th sati sfact 10n tha a ese a Vi Ve

helped
ped to mutual understanding and friendship between

B. to be equal to other things

our 2 countries.

A. strengthen B
. weaken (o)

- Promote D. pro

- bropel

B2t 3R
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fﬁ. Thinking only about short-term interests is killing a |
t lay golden eggs.
C. goose
a more
s for their property.
D. imaginable

tha
D. turkey

B. duck
approach and

A. hen
should adopt

17. They
investigate a
A. imaginary

18. The majority of nurses are wom
n women are in a

D. minimum

lternative use

B. imagery C. imaginative
en, but in the higher ranks

of the medical professio
B. scarcity C. rarity
poses a terrible threat to the human race,

A. minority
of a threat to the human race than

19. Overpopulation
yet it is probably __
environmental destruction.

A. no more B. not more C.
| 90. Space scientists believe that the black hole is

i things , toward its center.

D. vacant

even more D.much more
and

A. blank B.
21. Tom is the most

C. hollow
pupil in the class

A. industrious B.indulgent C.1industrialist D.industrial
old man.

empty

92. The mayor of the city is a
B. respectful C. respecting D.respectable

A. respective
93, 1 believe reserves of coal here to last for fifty

years.
D. effective

A. efficient
24. Mr

oficient
air—conditioner he had

ve D.defective
of a weekend
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: D. case
! X ( dentity
B. evidenc ey with intelligence,

A. proof ‘ i pople
¢Z:8fihon waiczedi £itie sUccessty ing excuses for
A her Luch we are making €X
physical rength or great ick, o i
ause we fall in & ‘
ourselves because We
. scarce
A. rare B. short C. lacking D. i
; t and plans
28. my sister is quite 5 =
| M.A degree within one year. 2 .
| A. Aggressive B. enthusiastic 4
| d.ambitious
i at it is difficult to
,‘ 29. The twins are so much _ that it is diff
| tell one from the other.
D. alike

A. similar B. same  C.like
30. His eyes were injured in a traffic accident , but after
» he quickly recovered his sight.

a ___ operation
D. sensitive

A. considerate B. delicate C. precise
Part IT Reading comprehension (40 points)
Section 1: Multiple choice questions (20 points ,

each )
: In this section there are reading passages

Directions :
followed by multiple-choice questions. Read the passages and

then write your answer on your answer sheet.

2 points for

Passage 1
Questions 31-35 are based on the following passage,

On Monday 22 October, an I'talian court found seven men guilty
of manslaughter for their role in failing to adequately
communicate the risk of a possible earthquake which stryck
on6 April 2009 and killed more than 300 people in the Italiap
city of L’ Aquila. The experts had been consulteq in March

B4R 3R
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| £

. 3 ssibil
| that year the po bility of a major quake aftex
and the ]n'u.\w-\ll ion ca

about
hinged on the fact that they

contradictory

tremors,
had given out inexact, incomplete and
information after this meeting.
The question is? was this trial about science or
communication? while the media are fil led with stories about
ing on trial, claiming that scientists have been |
\

science be
ailing to predict the earthquake, New Scientist

convicted of fi
actually for errors in |

points out that conviction was

communication.
In the 17" century, Galileo faced his own trial. it is

lieved that he was convicted because of his
ct, he was tried because of the
It is a subtle but

popularly be
practice of astronomy. In fa

way he communicated his astronomy.
important difference. The Vatican was not opposed to
t it was against the unauthorized communication

would require a change in the way the Bible
e earth from the center of the solar

of certain biblical

astronomy bu
of anything that
was interpreted. Moving th
system required a massive rethink
passages and so should have been submitted to the Vatican for
assessment. Galileo did not do that.

“oxtraordinary claims require

As Carl Sagan once said,
In the 17" century Italy, claiming

extraordinary evidence. E
le for Galileo

d was extraordinary. the troub
s the required extraordinary

e created by inertia
analysis.

the earth move
s that he did not posses
s belief that the tides wer
pace failed even a cursory
oved his heliocentric view

Even though history has pr
1lenged at the time, he didn’ t have a leg
on was a

correct, when cha
to stand on. He had asserted too much, and convicti
#5 W BR

wa
evidence. Hi
as Earth moved through S
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In L’ Aquila,

The prosecut
what they knew.

the opposite appears o
ijon thought that the
In both

foregone conclusion.
have been the case.
scientists revealed too little of

the the result was disastrous.
t of Galileo eviscerated the

s

cases,

In 1633, the punitive treatmen

practice of astronomy in Italy for centuries. Today,

very hard to see how the conviction of these geologists will

do anything to improve the sciences in Italy. Certainly,

| lessons in the communication of earthquake risk must be
| learned from this tragedy, but who will dare to speak up now
! w;t? this outcome as precedent? who will want to study
’ ‘n‘éﬁ!‘t T e 3= 3 . ‘ i
! hm&h:;j:es zg Italy? This verdict cannot bring back the |
Iwi e last in L' Aquila. it can only doom more to die as
talian scientists turn their back :
ack on the study of





